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0.0000 0.0000 | ==mmmmmmmmom | mmmmmm e | e
90.0000 0.0000 0.0000 90.0000 | —=-=mmmmmmmmmmmmee

N -

1.2.2
(Bridge)

FORUMS8



1.2.3 Bridge 1

) (m) 0.000
) (m) 0.000
©)) (m 0.000
¢)) (m) 90.000
® 3
®3) (KN/m?) 2.00E+008
@) (kN/m?) 7.70E+007
(m
LL 0.000 | —====—----
S1 30.000 1
S2 30.000 1
S3 30.000 1
LR 0.000 | ----------
H1 (m) H2 (m) (kN) (kN)
1 0.000 2.100 945.851 1513.362
2 0.000 | -------- 1891.703 | ------------—-
3 0.000 2.100 1891.703 4161.746
4 0.000 | -------- 1891.703 | ------------—-
5 0.000 2.100 1891.703 4161.746
6 0.000 | -------- 1891.703 | —————---——-———
7 0.000 2.100 945.851 1513.362
( D
(m 1z(m") ly(m%) () ()
1 15.000 0.17161 5.28830 0.00831 0.51034
2 15.000 0.17161 5.28830 0.00831 0.51034
3 15.000 0.17161 5.28830 0.00831 0.51034
4 15.000 0.17161 5.28830 0.00831 0.51034
5 15.000 0.17161 5.28830 0.00831 0.51034
6 15.000 0.17161 5.28830 0.00831 0.51034
( 2)
(m 1z(n") ly(n) (") ()
1 15.000 0.17161 5.28830 0.00831 0.51034
2 15.000 0.17161 5.28830 0.00831 0.51034
3 15.000 0.17161 5.28830 0.00831 0.51034
4 15.000 0.17161 5.28830 0.00831 0.51034
5 15.000 0.17161 5.28830 0.00831 0.51034
6 15.000 0.17161 5.28830 0.00831 0.51034
(m (m
5.500 5.500
1 )
(kN/m) (kN/m) (kN/m) (kN_.m/rad) (kN.m/rad) (kN_.m/rad)
1 (0.15)
2
3

FORUMS8



(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
4 (0.15)
2 ( D)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1 (0.15)
2
3
4 (0.15)
2 ( n))
(kN/m) (kN/m) (kN/m) (kN_.m/rad) (kN.m/rad) (kN.m/rad)
1 (0.15)
2
3
4 (0.15)
(ho)
(m)
1 0.000
2 0.000
3 0.000
4 0.000

FORUMS8




[6)) (kN/m?) 2.00E+008
0 (kN/m?) 7.70E+007
3) (KN/m%) 0.00
) (KN/m?)  2.94E+007
) (KN/m®) 0.00
(6) (kN/m*) 0.00
() 90.000
3
(m
0.000 | —====mmmm-
1 30.000 1
2 30.000 1
3 30.000 1
0.000 | —---====--
F B8
HE—!

H1

—F—[s

3000 * 3.000

(m
Ha 0.240
H5 0.100

3.000

FORUMS8



Wi(m) | w2(m) | W3(m) | H1(m) | H2(m) | H3(m)
90.000 | 0.400 | 0.009 | 0.400 | 1.700 | 0.019 | 0.019
=4
11.000
1 4.500
2 1.500
3 -1.500
4 -4.500
(m) 0.000
(m (m 1 2
0.000 90.000 126.114 126.114
(kN)
H1 (m) H2 (m)
N1 0.000 2.100
N2 0.000 e
N3 0.000 2.100
N4 0.000 -——-
N5 0.000 2.100
N6 0.000 -——-
N7 0.000 2.100
(kN)
N1 1513.362
N3 4161.746
N5 4161.746
N7 1513.362

(kN/m)

FORUMS8




2_55E+007

1.2.4 Bridge 1 Al1(1 )
@
)
(©) ( )
) (m
6 vy ¢ (KN/m) 24.50
@ KN/
(€©))
“4)
B2 IE]
H1
H2
F2 F4 N
] ) ’
H4 ’7
Tk ]
F1
(m)
H1 2.300
H2 6.000
B1 0.500
Pt m ) om
H5 0.000 | B3 0.000
H6 0.000
F1 7.000
F2 1.000 | w1 11.000
F3 0.000 | W2 11.000
Fa 4.300

X (m) 0.000
h(m) AgB 2.100
0.000
B Wi 5
[ 7
L ]
W2

FORUMS8




4.5

14

FORUMS8




€Y)

@

®

ED
GD

kv
Ks
B

1

kvo
ED
v D
GD
yt
g

VSD

0.3
2 (1 vD) GD = 551020.408 (kN/m?)

= 50.00
= 0.50
20.0 (kN/m®)
300.000 (m/s)
/ = 0.333

= 7.000 (m)
11.000 (m)

ED = 1836734. 694 (kN/m?)

= ﬂgi— VSD? = 183673.469 (kN/m?)

(kN/m?)
(KN/m?)
(KN/m?)
(KN/m*)
= 9.8 (m/s?)

VSD =Cv Vs =1.000 300.000 = 300.000 (n/s)
( )

kvo (Bv /0 - 3)—3/4 = 146033.787 (kN/m3)
A ke = 48629.252 (KN/m)
VA = 8.775 ()

ky :
ks :
Ky :
By :
Ay =

A

(KN/m)
(KN/m°)
(KN/m®)
(m
= 77.000 ()
kv

Ks = 0.333

FORUMS8



®
Ho Ass Asr
Mo |=| Ars Arr
Vo 0 0
Ass = ks
Asr
Ars
Arr = ky
Avv
kSB
Ky
AB
Ie
Ho Ass Asr
Mo |=| Ars Arr
Vo 0 0
Ass = kg
Asr
Ars
Arr = ky
Avv
I:
ke kv

0
0

Avv
As

Avv

As

As

00
6o

ov
3.744452E+006 (KN/m)

0.000000E+000 (kN/rad)
0.000000E+000 (KN.m/m)
4.591546E+007 (KN.m/rad)
1.124460E+007 (KN/m)

48629.252 (KN/m?)
146033.787 (KN/m°)
77.000 (m?»)
314.417 (%)

N
1

do
8o

0v
3.744452E+006 (KN/m)

0.000000E+000 (kN/rad)
0.000000E+000 (KN .m/m)
1.133831E+008 (KN.m/rad)
1.124460E+007 (KN/m)

2 = 776.417 (")

FORUMS8
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1.2.5 Bridge 1 P1(2 )
@
@) X (m) 0.000
©)) ( ) h (m) A&B 2.100
%) (m) 0.000
(€)) y ¢ (kN/m*) 24.50
@) (kN/m?) 2.50E+007
©)
*
®)
()
Q) I
L2 L3
L1
H1
» \ /
4
H3
[ c2
H5
F J L F3 J
(m)
H1 1.200
H2 1.300
H3 13.000 Cl 2.200
H4 0.000 C2 5.000
H5 2.200 C3 0.000
H6 0.000
H6 0
L1 2.200 F1 8.500
L2 2.200 F2 8.500
L3 12.000 F3 8.500
L4 5.000 F4 8.500

FORUMS8
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2.100
2.100

= 5
N Vsi
Hi (m) (kN/m?) (n/s)
1 2.500 5.00 0.50 17.0 0.000
2 4.000 10.00 0.50 17.0 0.000
3 3.500 5.00 0.50 17.0 0.000
4 3.500 15.00 0.50 19.0 0.000
5 36.500 50.00 0.50 19.0 0.000

FORUMS8
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2 |
2
(KN) 4161.746
(N/mm?%) 21.00
SD295
(KN/m?) 2 .000E+008
40
o sy (N/mm®) 295.00
d(cm) Aw(cm®)
H(m) Ah(cm®) s(cm)
0.000 1.986 15.0 95.200 98.000 11.916 5.958
[ 1
ICORINGD ()
12.0 25.0 | D32 78
0.0 0.0 | D32 0
[ 1
ICORBNGD )
12.0 22.0 | D32 34
0.0 0.0 | D32 0
KM'—hu®) 18912, 31043 (17. 600°— 4. 600°)
= = = 1.35020 (n%)
3. 3 - 2. 50E+007
p p 1621. 004
=Y - . = 18912. 31043 (kN/m)
§y  oyo  0.0857116
K('—hu®)  91605. 60170 (17. 600°— 4. 600°)
= = = 6.53996 (n%)
3. 3 - 2. 50E+007
Py Pyo 3142, 047

= 91605. 60170 (kN/m)
Sy 8 yo 0. 0342997

(KN/m)

hu (m)
E (kN/m?)

Py (kN)

oy (m)

Pyo (kN)

S yo (m)

FORUMS8



- 13 -

| |
o ck (N/mm?) 21.0
TC (N/mm?) 0.330
o sy (N/mm?) 295.00
hp (mm) 15500
ce d 0.838
cpt 1.112
pt () 0.412
b (mm) 5000.0
d (mm) 2080.0
a (mm) 150
Aw (mm?*) 1191.6
Ss (kN) 4238.64
ce d 0.606
cpt 1.099
pt () 0.399
b (mm) 2200.0
d (mm) 4880.0
a (mm? 150
Aw (mm*) 595.8
Ss kN) 4972.25
Ss
d 1.15 hp - Ss Aw osy d (1.15 a)x 10°
d 1.15 hp - Ss Aw asy hp a x10°
(€)) [
Pso Sco Ss 7437.84(kN)
Ps Sc Ss 6158.16(kN)
Sco ce cpt T ¢ b dx10° 3199.20(kN)
Sc cc ce cpt T ¢ b dx10° 1919.52(kN)
Pu 1838.99(kN)
Pu Ps
ou—2oy 367.71—97. 24
wa=1+ =1 = 1.927
a0y 3.0+97.24
Pso Sco Ss 7332.79(kN)
Ps Sc Ss 6388.58(kN)
Sco ce cpt T ¢ b dx10° 2360.54(kN)
Sc cc ce cpt T ¢ b dx 107 1416.32(kN)
Pu 4226.31(kN)
Pu Ps
ou—20oy 211.93—46. 14
wa=1+ — =1+ = 2.198
a0y 3.0+ 46.14
2 1
Pso Sco Ss 7437.84(KkN)
Ps Sc Ss 6798.00(kN)
Sco ce cpt T ¢ b dx10° 3199.20(kN)
Sc cc ce cpt T ¢ b dx10° 2559.36(kN)
Pu 1839.03(kN)
Pu Ps
ou—3dy 545.44—97. 24
na=1-+ =1+ = 4.073

a0y 1.5+97.24

FORUMS8




- 14 -

Pso Sco Ss

Ps Sc Ss

Sco ce cpt T ¢ b dx10°

Sc cc ce cpt Tc b dx10°

Pu

Pu Ps

ou— 20y 322.60—46. 18
=1+ =

=1+ = 4,991
ra @O0y 1.5 - 46. 18

Ps (kN)

Pso 1.0

Sc (kN)

Sco (kN)
1.0

cc I 0.6

Pu

ua

7332.79(kN)
6860.69(kN)
2360.54(kN)
1888.43(kN)
4230.09(kN)

(kN)

FORUMS8
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14
4.5
=5
=4
) N Hi / Vsi
Hi (m) /s) (/s)
1 2.500 5.00 170.998 0.000 0.01462
2 4.000 10.00 172.355 0.000 0.02321
3 3,500 5.00 170.998 0.000 0.02047
4 3,500 1500 197.297 0.000 0.01774
5 36.500 50.00 294.723 0.000 0.12385
S Hi / Vsi = 0.07604
=100 Ni¥* (1 Ni @ 25)
80 Ni** (1 Ni  50)
Vsi
6 = 4 S = 030414 (s)
Vsi :
0.2 T6 0.6 1

FORUMS8
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€Y

@

( )
14.900 (m)
« ) 1.2000 (m)
2.500E+007 (kN/m?)
1.13097000 (%)
2 0.10178762 (m*)
0.000 (m)
0.000 (m)
445778.02 (kN/m)
Ap + E
Kv = a b-op
L
Ap :
Ep :
a = 0.031(L/D) - 0.15
L = 14.900(m)
D
il ——» y
X1 X2 X3
nQO O O
X<Y2 (-2 £ - 8.500
N N N
O O O
8.500
[ 9]
X- Y | X (m m | 8x( ) 8 Y( )
1 1- 1 3.050 3.050 0.00000 0.00000
2] 2-1 0.000 3.050 0.00000 0.00000
3] 3-1 -3.050 3.050 0.00000 0.00000
41 1- 2 3.050 0.000 0.00000 0.00000
5[/ 2- 2 0.000 0.000 0.00000 0.00000
6| 3- 2 -3.050 0.000 0.00000 0.00000
7] 1- 3 3.050 -3.050 0.00000 0.00000
8| 2- 3 0.000 -3.050 0.00000 0.00000
91 3- 3 -3.050 -3.050 0.00000 0.00000

FORUMS8
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®3)
N vD yt Vs VSD GD ED
(m (kN/m*) | (m/s) (n/s) (KN/m?) (kN/m?)
1 2.500 5.0 0.50 17.0 170.998 136.798 32462 .564 97387.693
2 4.000 10.0 0.50 17.0 172.355 137.884 32979.910 98939.729
3 3.500 5.0 0.50 17.0 170.998 136.798 32462 .564 97387.693
4 3.500 15.0 0.50 19.0 197.297 157.838 48300.131 144900.394
5 1.400 50.0 0.50 19.0 294.723 235.778 107778.998 323336.995
ED =2+ (1+wvD) - GD
t
6D = ——ysp?
g
ED : (kN/m?)
vD :
Gh : (kN/m?)
vt : (kN/m*)
g : = 9.8 (m/s?)
VSD : (m/s)
VSD = Cv Vs
Cv :
Cv=0.8 Vs 300 (m/s)
Cv=10 Vs 300 (m/s)
Vs (m/s)
Vs =100 N (1 N 25)
Vs = 80 N“ (1 N 50)
N N
N kHoi kHi
Hi (m) (kN/m%) (KN/m°)
1 2.500 5.0 324625.643 79331.976
2 4.000 10.0 329799.096 80596.264
3 3.500 5.0 324625.643 79331.976
4 3.500 15.0 483001.314 118035.804
5 1.400 50.0 1077789.983 263390.187
BH \ *
kHi = KkHoi +« |—— kN/m®
1 o1 ( 0.3 ) ( /m )
D
BH = _./— = 1.96351 (m)
B
g =MD o 055 )
4ET ' "
1/ = 3.212796 (m)
1
kHoi = ——ED (kN/m’
ol = 3t (/)
kHi i (kN/m*)
kHoi : i (KN/m®)
BH (m)

FORUMS8




- 18 -

El
ED

BH

m™)
= 1.2000 (m)

= 2.544691E+006 (KN.m?)

kH

(kN/m?)

1/

FORUMS8
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©)

®

K1 = 307022.150 (kN/m)
K2 = 493987.818 (kN/rad)
K3 = 493987.818 (kN.m/m)
K4 = 1586931.834 (kN.m/rad)
Kv = 445778.024 (kN/m)
| Ho Ass Asr Asv 0o
Mo |=| Ars Arr Arv 0o
Vo Avs Avr Avv ov
Ass | kN/m 2.763199E+006 2.763199E+006
Asr | kN/rad -4.445890E+006 -4 .445890E+006
Ars | kN.m/m -4.445890E+006 -4 .445890E+006
Arr | kN.m/rad 3.916349E+007 3.916349E+007
Asv | kN/m 0.000000E+000 0.000000E+000
Arv | kN.m/m 0.000000E+000 0.000000E+000
Avs | kN/m 0.000000E+000 0.000000E+000
Avr | kN/rad 0.000000E+000 0.000000E+000
Avv | kKN/m 4.012002E+006 4.012002E+006
Ass =X (KL cos®0i+Kv sinBi)
Asv = Avs = X (Kv - KL ) sinB i cosO i
Asr = Ars = 2 { (Kv - KL ) Xi sin@i cosb1i-K2 cosBi}
Avv =X (Kv cos®0i+KL sin®i)
Avr = Arv = Z { (Kv cos’0 i + KL sin@i ) Xi+ K2 sinfi}
Arr =X { (Kv cos’0i+KL sin@i) Xi’+ (K2+K3) Xi
Ho : (kN)
Vo (kN)
Mo : (kN.m)
50 : (m
oV : (m)
6o : (rad)
X o X (m)
i : i ¢)

sin@ i + K4 }

FORUMS8
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1.2.6 Bridge 1 P2(3 )

@
) X (m) 0.000
®) ( ) h (m) A 2.100
4 (m) 0.000
@ y © (KN/TP) 24.50
0 (kN/m?) 2 .50E+007
® I
4
®)
(©)
Q) I
L2 L3
L1
H1
" \ /
L4
H3
Ci c2
H5
F1 J L F3 J
(m
H1 1.200
H2 1.300
H3 14.000 Cl 2.200
H4 0.000 C2 5.000
H5 2.200 C3 0.000
H6 0.000
H6 0
L1 2.200 F1 8.500
L2 2.200 F2 8.500
L3 12.000 F3 8.500
L4 5.000 F4 8.500

FORUMS8
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2.100
2.100

= 5
N Vsi
Hi (m) (kN/m?) (n/s)
1 2.500 5.00 0.50 17.0 0.000
2 4.000 10.00 0.50 17.0 0.000
3 3.500 5.00 0.50 17.0 0.000
4 3.500 15.00 0.50 19.0 0.000
5 36.500 50.00 0.50 19.0 0.000

FORUMS8
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2 |
2
(KN) 4161.746
(N/mm?%) 21.00
SD295
(KN/m?) 2 .000E+008
40
o sy (N/mm®) 295.00
d(cm) Aw(cm®)
H(m) Ah(cm®) s(cm)
0.000 1.986 15.0 95.200 98.000 11.916 5.958
[ 1
ICORINGD ()
12.0 25.0 | D32 78
0.0 0.0 | D32 0
[ 1
ICORBNGD )
12.0 22.0 | D32 34
0.0 0.0 | D32 0
KM'—hu®)  16053. 93931 (18. 600°— 4. 600°)
= = = 1.35656 (n%)
3. 3 - 2. 50E+007
p p 1545. 092
=Y - . = 16053. 93931 (kN/m)
Sy oyo  0.0962438
K(h'—hu®)  77769. 56668 (18. 600°— 4. 600°)
= = = 6.57155 (n%)
3. 3 - 2. 50E+007
Py Pyo 2997, 283

= 77769. 56668 (kN/m)
Sy 8 yo 0. 0385406

(KN/m)

hu (m)
E (kN/m?)

Py (kN)

oy (m)

Pyo (kN)

S yo (m)

FORUMS8
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| |
o ck (N/mm?) 21.0
TC (N/mm?) 0.330
o sy (N/mm?) 295.00
hp (mm) 16500
ce d 0.838
cpt 1.112
pt () 0.412
b (mm) 5000.0
d (mm) 2080.0
a (mm) 150
Aw (mm?*) 1191.6
Ss (kN) 4238.64
ce d 0.606
cpt 1.099
pt () 0.399
b (mm) 2200.0
d (mm) 4880.0
a (mm? 150
Aw (mm*) 595.8
Ss kN) 4972.25
Ss
d 1.15 hp - Ss Aw osy d (1.15 a)x 10°
d 1.15 hp - Ss Aw asy hp a x10°
(€)) [
Pso Sco Ss 7437.84(kN)
Ps Sc Ss 6158.16(kN)
Sco ce cpt T ¢ b dx10° 3199.20(kN)
Sc cc ce cpt T ¢ b dx10° 1919.52(kN)
Pu 1752.02(kN)
Pu Ps
ou—2oy 390. 56—109. 13
wa=1+ =1 = 1.860
a0y 3.0+ 109. 13
Pso Sco Ss 7332.79(kN)
Ps Sc Ss 6388.58(kN)
Sco ce cpt T ¢ b dx10° 2360.54(kN)
Sc cc ce cpt T ¢ b dx 107 1416.32(kN)
Pu 4025.73(kN)
Pu Ps
ou—20oy 225.71—51.76
wa=1+ — =1+ = 2.120
a0y 3.0+51.76
2 1
Pso Sco Ss 7437.84(KkN)
Ps Sc Ss 6798.00(kN)
Sco ce cpt T ¢ b dx10° 3199.20(kN)
Sc cc ce cpt T ¢ b dx10° 2559.36(kN)
Pu 1752.06(kN)
Pu Ps
ou—3dy 575.75—109. 14
na=1-+ =1+ = 3.850

a0y 1.5+ 109. 14

FORUMS8
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Pso Sco Ss

Ps Sc Ss

Sco ce cpt T ¢ b dx10°

Sc cc ce cpt Tc b dx10°

Pu

Pu Ps

ou— 20y 342.01—51.81
=1+ =

=14+
ra @O0y 1.5 51.81

4.734

Ps (kN)

Pso 1.0

Sc (kN)

Sco (kN)
1.0

cc I 0.6

Pu

ua

7332.79(KN)
6860.69(kN)
2360.54(KN)
1888.43(kN)
4029.30(kN)

(kN)

FORUMS8
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€Y

@

( )
14.900 (m)
« ) 1.2000 (m)
2.500E+007 (kN/m?)
1.13097000 (%)
2 0.10178762 (m*)
0.000 (m)
0.000 (m)
445778.02 (kN/m)
Ap + E
Kv = a b-op
L
Ap :
Ep :
a = 0.031(L/D) - 0.15
L = 14.900(m)
D
il ——» y
X1 X2 X3
nQO O O
X<Y2 (-2 £ - 8.500
N N N
O O O
8.500
[ 9]
X- Y | X (m m | 8x( ) 8 Y( )
1 1- 1 3.050 3.050 0.00000 0.00000
2] 2-1 0.000 3.050 0.00000 0.00000
3] 3-1 -3.050 3.050 0.00000 0.00000
41 1- 2 3.050 0.000 0.00000 0.00000
5[/ 2- 2 0.000 0.000 0.00000 0.00000
6| 3- 2 -3.050 0.000 0.00000 0.00000
7] 1- 3 3.050 -3.050 0.00000 0.00000
8| 2- 3 0.000 -3.050 0.00000 0.00000
91 3- 3 -3.050 -3.050 0.00000 0.00000

FORUMS8
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®3)
N vD yt Vs VSD GD ED
(m (kN/m*) | (m/s) (n/s) (KN/m?) (kN/m?)
1 2.500 5.0 0.50 17.0 170.998 136.798 32462 .564 97387.693
2 4.000 10.0 0.50 17.0 172.355 137.884 32979.910 98939.729
3 3.500 5.0 0.50 17.0 170.998 136.798 32462 .564 97387.693
4 3.500 15.0 0.50 19.0 197.297 157.838 48300.131 144900.394
5 1.400 50.0 0.50 19.0 294.723 235.778 107778.998 323336.995
ED =2+ (1+wvD) - GD
t
6D = ——ysp?
g
ED : (kN/m?)
vD :
Gh : (kN/m?)
vt : (kN/m*)
g : = 9.8 (m/s?)
VSD : (m/s)
VSD = Cv Vs
Cv :
Cv=0.8 Vs 300 (m/s)
Cv=10 Vs 300 (m/s)
Vs (m/s)
Vs =100 N (1 N 25)
Vs = 80 N“ (1 N 50)
N N
N kHoi kHi
Hi (m) (kN/m%) (KN/m°)
1 2.500 5.0 324625.643 79331.976
2 4.000 10.0 329799.096 80596.264
3 3.500 5.0 324625.643 79331.976
4 3.500 15.0 483001.314 118035.804
5 1.400 50.0 1077789.983 263390.187
BH \ *
kHi = KkHoi +« |—— kN/m®
1 o1 ( 0.3 ) ( /m )
D
BH = _./— = 1.96351 (m)
B
g =MD o 055 )
4ET ' "
1/ = 3.212796 (m)
1
kHoi = ——ED (kN/m’
ol = 3t (/)
kHi i (kN/m*)
kHoi : i (KN/m®)
BH (m)

FORUMS8
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El
ED

BH

m™)
= 1.2000 (m)

= 2.544691E+006 (KN.m?)

kH

(kN/m?)

1/

FORUMS8
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©)

®

K1 = 307022.150 (kN/m)
K2 = 493987.818 (kN/rad)
K3 = 493987.818 (kN.m/m)
K4 = 1586931.834 (kN.m/rad)
Kv = 445778.024 (kN/m)
| Ho Ass Asr Asv 0o
Mo |=| Ars Arr Arv 0o
Vo Avs Avr Avv ov
Ass | kN/m 2.763199E+006 2.763199E+006
Asr | kN/rad -4.445890E+006 -4 .445890E+006
Ars | kN.m/m -4.445890E+006 -4 .445890E+006
Arr | kN.m/rad 3.916349E+007 3.916349E+007
Asv | kN/m 0.000000E+000 0.000000E+000
Arv | kN.m/m 0.000000E+000 0.000000E+000
Avs | kN/m 0.000000E+000 0.000000E+000
Avr | kN/rad 0.000000E+000 0.000000E+000
Avv | kKN/m 4.012002E+006 4.012002E+006
Ass =X (KL cos®0i+Kv sinBi)
Asv = Avs = X (Kv - KL ) sinB i cosO i
Asr = Ars = 2 { (Kv - KL ) Xi sin@i cosb1i-K2 cosBi}
Avv =X (Kv cos®0i+KL sin®i)
Avr = Arv = Z { (Kv cos’0 i + KL sin@i ) Xi+ K2 sinfi}
Arr =X { (Kv cos’0i+KL sin@i) Xi’+ (K2+K3) Xi
Ho : (kN)
Vo (kN)
Mo : (kN.m)
50 : (m
oV : (m)
6o : (rad)
X o X (m)
i : i ¢)

sin@ i + K4 }

FORUMS8




- 29 -

1.2.7 Bridge 1 A2(4 )
@
)
(©) )
) (m
6D y ¢ (KN/m) 24.50
@ KN/ 2 .55E+007
(€©))
“4)
B2 E]
H1
H2
F2 F4
J 7 1
H4
Tk J
F1
(m)
H1 2.300
H2 6.200
B1 0.500
Pt on ) m
H5 0.000 | B3 0.000
H6 0000
F1 6.000
F2 1.000 | Wi 11.000
F3 0.000 | W2 11.000
F4 3400

X (m) 0.000
h(m) AgB 2.100
0.000
« W1 .
[ |
L J
N W2 A

FORUMS8
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4.5

14

FORUMS8
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€Y)

@

®

ED
GD

kv
Ks
B

1

kvo
ED
v D
GD
yt
g

VSD

0.3
2 (1 vD) GD = 551020.408 (kN/m?)

= 50.00
= 0.50
20.0 (kN/m®)
300.000 (m/s)
/ = 0.333

= 6.000 (m)
11.000 (m)

ED = 1836734. 694 (kN/m?)

= ﬂgi— VSD? = 183673.469 (kN/m?)

(kN/m?)
(KN/m?)
(KN/m?)
(KN/m*)
= 9.8 (m/s?)

VSD =Cv Vs =1.000 300.000 = 300.000 (n/s)
( )

ko (B, /0.3)* = 154724.253 (kN/m)
A ko = 51523.177 (KN/m°)
VA = 8.124 (m)

ky :
ks :
Ky :
By :
Ay =

A

(KN/m)
(KN/m°)
(KN/m®)
(m
= 66.000 ()
kv

Ks = 0.333

FORUMS8



- 32 -

®
Ho Ass Asr
Mo |=| Ars Arr
Vo 0 0
Ass = ks
Asr
Ars
Arr = ky
Avv
kSB
Ky
AB
Ie
Ho Ass Asr
Mo |=| Ars Arr
Vo 0 0
Ass = kg
Asr
Ars
Arr = ky
Avv
I:
ke kv

0
0

Avv
As

Avv

As

As

00
6o

ov
3.400530E+006 (kN/m)

0.000000E+000 (kN/rad)
0.000000E+000 (KN.m/m)
3.063540E+007 (KN.m/rad)
1.021180E+007 (KN/m)

51523.177 (KN/m?)
154724.253 (kN/m°)
66.000 (%)
198.000 (n*)

N
1

do
8o

0v
3.400530E+006 (kN/m)

0.000000E+000 (kN/rad)
0.000000E+000 (KN .m/m)
1.029690E+008 (KN.m/rad)
1.021180E+007 (KN/m)

2 = 665.500 (m")

FORUMS8
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1.2.8

m) 1000.00000 1000.00000 1000.00000
2 (m%) 1000.00000 1000.00000 1000.00000
2 (") 1000.00000 1000.00000 1000.00000
(") 1000.00000 1000.00000 1000.00000

FORUMS8
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1.3
1.3.1
25 27 . 28 30 _ 31 33 34
1126 e 6129 hd 137 32 e 207 36
7 14
D) 8 15 21
5 24
9 16
1N
t ¥
12 19
[ bR Kl gnEsh = 1:1.13 ]
Wi (kN
() (m T(kN)
25 0.000 0.000 945.851
(Bridge 1) 27 15.000 0.000 | 1891.703
28 30.000 0.000 1891.703
30 45.000 0.000 1891.703
31 60.000 0.000 1891.703
33 75.000 0.000 1891.703
34 90.000 0.000 945.851
26 0.000 -2.100 0.000
29 30.000 -2.100 0.000
32 60.000 -2.100 0.000
35 90.000 -2.100 0.000
Al 1 0.000 -2.100 0.000
2 0.000 -5.100 3058.825
3 0.000 -8.100 0.000
4 0.000 -8.700 2263.800
5 0.000 -9.300 0.000
P1 6 30.000 -2.100 0.000
7 30.000 -3.204 1371.755
8 30.000 -4.600 0.000
9 30.000 -11.100 3503.500
10 30.000 -17.600 0.000
11 30.000 -18.700 3894.275
12 30.000 -19.800 0.000
P2 13 60.000 -2.100 0.000
14 60.000 -3.204 1371.755
15 60.000 -4.600 0.000
16 60.000 -11.600 3773.000
17 60.000 -18.600 0.000
18 60.000 -19.700 3894.275
19 60.000 -20.800 0.000
A2 20 90.000 -2.100 0.000
21 90.000 -5.200 2983.365
22 90.000 -8.300 0.000
23 90.000 -8.800 1617.000
24 90.000 -9.300 0.000

FORUMS8
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1 2
(KN/m) KN/ (™) Iz (n) Iz ()
25- 27 | 2.000E+008 | 7.700E+007 0.5103 0.1716 0.1716
(Bridge 1) 27- 28 0.5103 0.1716 0.1716
28- 30 0.5103 0.1716 0.1716
30- 31 0.5103 0.1716 0.1716
31- 33 0.5103 0.1716 0.1716
33- 34 0.5103 0.1716 0.1716
26- 25 | 2.000E+008 | 7.700E+007 | 1000.0000 | 1000.0000 | 1000.0000
29- 28
32- 31
35- 34
AL 1- 2 | 2.550E+007 | 1.100E+007 |  18.7000 4.5036 4.5036
2- 3| 2.550E+007 | 1.109E+007 |  18.7000 4.5036 4.5036
3- 4 | 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 1000.0000
4- 5| 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 10000000
P1 6- 7 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000
7- 8 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000
8- 9 | 2.500E+007 | 1.087E+007 |  11.0000 4.4367 1.3502
9- 10 | 2.500E+007 | 1.087E+007 |  11.0000 4.4367 1.3502
10- 11 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 10000000
11- 12 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 10000000
P2 13- 14 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000
14- 15 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 10000000
15- 16 | 2.500E+007 | 1.087E+007 |  11.0000 4.4367 1.3566
16- 17 | 2.500E+007 | 1.087E+007 |  11.0000 4.4367 1.3566
17- 18 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 10000000
18- 19 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 10000000
A2 20- 21 | 2.550E+007 | 1.109E+007 |  17.6000 3.7547 3.7547
21- 22 | 2.550E+007 | 1.109E+007 |  17.6000 3.7547 3.7547
22- 23 | 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 1000.0000
23- 24 | 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 10000000
1 2
KN/ KN/ ly (m) 3 @) ly (m) J ()
25- 27 | 2.000E+008 | 7.700E+007 5.2883 0.0083 5.2883 0.0083
(Bridge 1) 27- 28 5.2883 0.0083 5.2883 0.0083
28- 30 5.2883 0.0083 5.2883 0.0083
30- 31 5.2883 0.0083 5.2883 0.0083
31- 33 5.2883 0.0083 5.2883 0.0083
33- 34 5.2883 0.0083 5.2883 0.0083
26- 25 | 2.000E+008 | 7.700E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
29- 28
32- 31
35- 34
AL 1- 2| 2.550E+007 | 1.100E+007 | 188.5583 | 16.2605 | 188.5583 |  16.2605
2- 3| 2.550E+007 | 1.100E+007 | 188.5583 | 16.2605 | 188.5583 |  16.2605
3- 4 | 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
4- 5| 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
P1 6- 7 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
7- 8 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
8- O | 2.500E+007 | 1.087E+007 |  22.9167 |  12.8427 6.5400 |  12.8427
9- 10 | 2.500E+007 | 1.087E+007 |  22.9167 |  12.8427 6.5400 |  12.8427
10- 11 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
11- 12 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
P2 13- 14 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
14- 15 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
15- 16 | 2.500E+007 | 1.087E+007 | ~ 22.9167 |  12.8427 6.5715 |  12.8427
16- 17 | 2.500E+007 | 1.087E+007 |  22.9167 |  12.8427 6.5715 |  12.8427
17- 18 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
18- 19 | 2.500E+007 | 1.087E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000
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1 2
(kN/m) (kN/m) ly (n) J () ly () J(n')

A2 20- 21 | 2.550E+007 | 1.109E+007 | 177.4667 |  13.6425 | 177.4667 |  13.6425

21- 22 | 2.550E+007 | 1.109E+007 | 177.4667 |  13.6425 | 177.4667 |  13.6425

22- 23 | 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000

23- 24 | 2.550E+007 | 1.109E+007 | 1000.0000 | 1000.0000 | 1000.0000 | 1000.0000

FORUMS8
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@ (m) 0.000
) (m) 0.000
(€)) (m) 0.000
@4 (m) 90.000
®) 3
(6) (kN/m*) 2.00E+008
) (kN/m?) 7.70E+007
(m)
LL 0.000 | ----------
Sl 30.000 1
S2 30.000 1
S3 30.000 1
LR 0.000 | ----------
H1 (m) H2 (m) (kN) (kN)
1 0.000 2.100 945.851 1513.362
2 0.000 | -------- 1891.703 | —-—mmmmmmmmmm
3 0.000 2.100 1891.703 4161.746
4 0.000 | -------- 1891.703 | ---—-————===—=
5 0.000 2.100 1891.703 4161.746
6 0.000 | -------- 1891.703 | —--—-——-———-——-
7 0.000 2.100 945.851 1513.362
( 1
1z(n%) ly(n) () ()
1 0.17161 5.28830 0.00831 0.51034
2 0.17161 5.28830 0.00831 0.51034
3 0.17161 5.28830 0.00831 0.51034
4 0.17161 5.28830 0.00831 0.51034
5 0.17161 5.28830 0.00831 0.51034
6 0.17161 5.28830 0.00831 0.51034
( 2)
1z(m%) ly(m) @) ()
1 0.17161 5.28830 0.00831 0.51034
2 0.17161 5.28830 0.00831 0.51034
3 0.17161 5.28830 0.00831 0.51034
4 0.17161 5.28830 0.00831 0.51034
5 0.17161 5.28830 0.00831 0.51034
6 0.17161 5.28830 0.00831 0.51034
( 1)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1 (0.15)
2
3
4 (0.15)

FORUMS8
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D
(KN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1 (0.15)
2
3
4 (0.15)
)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1 (0.15)
2
3
4 (0.15)
(ho)
(m
1 0.000
3 0000
4 0.000

FORUMS8




- 39 -

Al
1 |
(kN)
2 3058.825
2 X 4 2263.800
m () (kN/m*) (kN/m*)
1- 2 3.0000 18.70000 2.55E+007 1.11E+007
3 2- 3 3.0000 18.70000 2.55E+007 1.11E+007
3- 4 0.6000 | 1000.00000 2.55E+007 1.11E+007
4 4 - 5 0.6000 | 1000.00000 2.55E+007 1.11E+007
g 1 1 1 2 2 2
4 4 & J 4 4 J
Iz (m) ly (m) (m) 1z (m) ly () (m)
1- 2 4.50358 188.55834 16.26048 4.50358 188.55834 16.26048
2- 3 4.50358 188.55834 16.26048 4.50358 188.55834 16.26048
3 - 4| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
4 - 5| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
Kx(Ass) 3.744452E+006 kN/m | Kx(Arr) 1.133831E+008 | kN.m/rad
Ky(Avv) 1.124460E+007 kN/m | Ky kN.m/rad
Kz(Arr) 4.591546E+007 | kN.m/rad | Kz(Ass) 3.744452E+006 KN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) 0.000000E+000 kN/rad | Kxz(Ars) 0.000000E+000 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -1.300
)
Ho Kx Kxy Kxz’ do
Vo |= | Kxy Ky Kyz’ ov
Mo Kxz' Kyz' Kz’ 6o
Kz =Kz +Kyz e 2+Ky e°= ( 6.491883E+007) (kN.m/rad)
Kxz" = Kxz + Kxy e = 0.000000E+000 (kN/rad)
Kyz® = Kyz + Ky e = -1.461798E+007 (kN/rad)
e
Kxy" = 0.000000E+000 (kN/m)
Kyz® = 1.461798E+007 (kN/rad)

FORUMS8
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[ P1
1 1
2
3 I 1
(v a) 1.927 4.073
(1 a) 2.198 4.991
kN
4» ( )
2 1371.755
4 3503.500
6 3894.275
5
6 m () (kN/m?) (kN/m*)
7 1- 2 1.1040 | 1000.00000 2.50E+007 1.09E+007
2- 3 1.3960 | 1000.00000 2.50E+007 1.09E+007
3- 4 6.5000 11.00000 2.50E+007 1.09E+007
4 -5 6.5000 11.00000 2.50E+007 1.09E+007
5- 6 1.1000 | 1000.00000 2.50E+007 1.09E+007
6 - 7 1.1000 | 1000.00000 2.50E+007 1.09E+007
1 1 1 2 2 2
4 4 & J 4 4 & J
1z (m) ly (m) () 1z (m) ly (m) (m)
1 - 2| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
2 - 3| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
3- 4 4._43667 22.91667 12.84266 1.35020 6.53996 12.84266
4 -5 4.43667 22.91667 12.84266 1.35020 6.53996 12.84266
5 - 6| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
6 - 7| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
Kx(Ass) 2.763199E+006 kN/m | Kx(Arr) 3.916349E+007 | kN.m/rad
Ky (Awv) 4.012002E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916349E+007 | kN.m/rad | Kz(Ass) 2.763199E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445890E+006 kN/rad | Kxz(Ars) -4 _445890E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUMS8
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[ ] P2
1 |
2
3 I 1
(v a) 1.860 3.850
(1 a) 2.120 4.734
kN
4 ® ( )
2 1371.755
4 3773.000
6 3894.275
5
6 i m m) (kN/m?) (kN/m?)
7 1- 2 1.1040 | 1000.00000 2.50E+007 1.09E+007
2- 3 1.3960 | 1000.00000 2.50E+007 1.09E+007
3- 4 7.0000 11.00000 2.50E+007 1.09E+007
4 -5 7.0000 11.00000 2.50E+007 1.09E+007
5- 6 1.1000 | 1000.00000 2.50E+007 1.09E+007
6 - 7 1.1000 | 1000.00000 2.50E+007 1.09E+007
1 1 1 2 2 2
4 4 & J 4 4 & J
1z (m) ly (m) () 1z (m) ly (m) (m)
1 - 2| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
2 - 3| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
3- 4 4._43667 22.91667 12.84266 1.35656 6.57155 12.84266
4 -5 4.43667 22.91667 12.84266 1.35656 6.57155 12.84266
5 - 6| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
6 - 7| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
Kx(Ass) 2.763199E+006 kN/m | Kx(Arr) 3.916349E+007 | kN.m/rad
Ky (Awv) 4.012002E+006 kN/m | Ky kN.m/rad
Kz(Arr) 3.916349E+007 | kN.m/rad | Kz(Ass) 2.763199E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4 _445890E+006 kN/rad | Kxz(Ars) -4 _445890E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000
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A2
1 |
(kN)
2 2983.365
) 4 1617.000
p
m () (kN/m*) (kN/m*)
1- 2 3.1000 17.60000 2.55E+007 1.11E+007
2- 3 3.1000 17.60000 2.55E+007 1.11E+007
3 3- 4 0.5000 | 1000.00000 2.55E+007 1.11E+007
4 4 - 5 0.5000 | 1000.00000 2.55E+007 1.11E+007
g 1 1 1 2 2 2
4 4 & J 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 3.75467 177.46667 13.64246 3.75467 177.46667 13.64246
2- 3 3.75467 177.46667 13.64246 3.75467 177.46667 13.64246
3 - 4| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
4 - 5| 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000 | 1000.00000
Kx(Ass) 3.400530E+006 kN/m | Kx(Arr) 1.029690E+008 | kN.m/rad
Ky(Avv) 1.021180E+007 kN/m | Ky kN.m/rad
Kz(Arr) 3.063540E+007 | kN.m/rad | Kz(Ass) 3.400530E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) 0.000000E+000 kN/rad | Kxz(Ars) 0.000000E+000 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = -0.900
Ho Kx Kxy Kxz’ do
Vo |= | Kxy Ky Kyz’ ov
Mo Kxz' Kyz' Kz’ 6o
Kz =Kz +Kyz e 2+Ky e°= ( 3.890696E+007) (kN.m/rad)
Kxz" = Kxz + Kxy e = 0.000000E+000 (kN/rad)
Kyz® = Kyz + Ky e = -9.190620E+006 (kN/rad)

FORUMS8
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1.3.2

[ Mo KT A = 1:1.13 ]

(Bridge)
1
vim)

Wickn) 1 2(1) 2(11)

1|  945.851 0.2185 0.4337 0.4337

(Bridge 1) 2| 1891.703 0.2183 0.4335 0.4335
3| 1891.703 0.2179 0.4331 0.4331

4| 1891.703 0.2181 0.4334 0.4334

5| 1891.703 0.2181 0.4333 0.4333

6| 1891.703 0.2185 0.4337 0.4337

7| o45.851 0.2186 0.4339 0.4339

AL 1 0.000 0.0042 0.0042 0.0042
2| 3058.825 0.0029 0.0029 0.0029

3 0.000 0.0018 0.0018 0.0018

4| 2263.800 0.0016 0.0016 0.0016

5 0.000 0.0014 0.0014 0.0014

P1 1 0.000 0.2150 0.4302 0.4302
2| 1371.755 0.1988 0.3921 0.3921

3 0.000 0.1784 0.3439 0.3439

4| 3503.500 0.0899 0.1413 0.1413

5 0.000 0.0285 0.0286 0.0286

6| 3894.275 0.0218 0.0219 0.0219

7 0.000 0.0152 0.0153 0.0153

P2 1 0.000 0.2161 0.4314 0.4314
2| 1371.755 0.2007 0.3954 0.3954

3 0.000 0.1812 0.3498 0.3498

4| 3773.000 0.0897 0.1423 0.1423

5 0.000 0.0266 0.0264 0.0264

6| 3894.275 0.0204 0.0202 0.0202

7 0.000 0.0142 0.0141 0.0141

FORUMS8




- 44 -

Ui (m)
WiCkN) 1 2(1) 2311)
A2 1 0.000 0.0052 0.0052 0.0052
2| 2983.365 0.0034 0.0034 0.0034
3 0.000 0.0018 0.0018 0.0018
4| 1617.000 0.0016 0.0016 0.0016
5 0.000 0.0014 0.0014 0.0014
1
m (m A (m)
(KN/m)
i R 0.2200 0.0042 0.2158
2| | e 0.2150 0.2150 0.0000
(Bridge 1) 3| | e 0.2161 0.2161 0.0000
S N 0.2197 0.0052 0.2145
2 I
(m (m A (m)
(KN/m)
i R 0.4352 0.0042 0.4310
2| | e 0.4302 0.4302 0.0000
(Bridge 1) 3| | e 0.4314 0.4314 0.0000
4| | e 0.4349 0.0052 0.4297
2 T
(m (m A (m)
(KN/m)
i D [ 0.4352 0.0042 0.4310
2| | 0.4302 0.4302 0.0000
(Bridge 1) 3| | 0.4314 0.4314 0.0000
7 N 0.4349 0.0052 0.4297
1 2(1) 2311
AL 0 0.0014 0.0014 0.0014
IOIRO) ~0.0004 ~0.0004 ~0.0004
@ ) (rad) ~0.0003 ~0.0003 ~0.0003
P1 0 (M 0.0152 0.0153 0.0153
IO, 0.0001 0.0001 0.0001
@ ) (rad) ~0.0060 ~0.0061 ~0.0061
P2 0 (m 0.0142 0.0141 0.0141
OO ~0.0001 ~0.0001 ~0.0001
@ ) (rad) ~0.0056 ~0.0056 -0.0056
A2 0 () 0.0014 0.0014 0.0014
IOIRO) 0.0004 0.0004 0.0004
@ ) (rad) ~0.0004 ~0.0004 ~0.0004

FORUMS8




- 45 -

F
1 2(1) 2(11)
F(kN) F(kN) F(kN)
AL Bridge 1 1 0.000 0.000 0.000
P1 Bridge 1| 2 6297.041 6360.949 6360.949
P2 Bridge 1| 3 5053.176 4989.267 4989.267
A2 Bridge 1| 4 0.000 0.000 0.000

FORUMS8




- 46 -

1.4
1.4.1
( )
T(sec) | Khg Kho Khi | Kh F (kN) H (kN) Wu (kN)
1 P1 | 0.865|0.20 | 0.2500 | 0.25|0.25 | 6297.041 | 1574.260 | 6297.041
P2 0.16 | 0.2000 | 0.20 5053.176 1263.294 5053.176
2 Al | 0.127 | 0.16 | 0.2000 | 0.20 | 0.20 0.000 227.004 1135.021
3 A2 | 0.142|0.16 | 0.2000 | 0.20 | 0.20 0.000 227.004 1135.021
( )
T(sec) | T/Tmin | Khg Kho Kh F (kN) H (kN) Wu (kN)
1 Al | 0.122 ----10.16 | 0.2000 | 0.20 1513.362 302.672 1513.362
2 P1| 0.691 | 1.000 | 0.20 | 0.2500 | 0.25 4161.746 1040.437 4161.746
3 P2 | 0.732 | 1.058 | 0.16 | 0.2000 | 0.20 4161.746 832.349 4161.746
4 A2 | 0.124 ----10.16 | 0.2000 | 0.20 1513.362 302.672 1513.362
( I )
T(sec) | Khg | Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)
1 PL | 1.233|0.35 | 0.8500 | 0.592 |0.50 | 0.50 | 6360.949 | 3180.474 | 6360.949
P2 0.30 | 0.7000 | 0.606 | 0.42 4989.267 2494634 4989.267
2 Al | 0.166 | 0.30 | 0.7000 | ----- ----10.00 756.681 0.000 0.000
3 A2 | 0.189 | 0.30 | 0.7000 | ----- ----10.00 756.681 0.000 0.000
( I )
T(sec) | T/Tmin | Khg | Khco Cs Khc F (kN) H (kN) Wu (kN)
1 Al | 0.122 ----10.30|0.7000 | ----- 0.00 1513.362 0.000 0.000
2 P1| 0.802 | 1.000 | 0.35|0.8500 | 0.543 | 0.46 4161.746 1914.403 4161.746
3 P2 | 0.856 | 1.066 | 0.30 | 0.7000 | 0.556 | 0.40 4161.746 1664 .698 4161.746
4 A2 | 0.124 ----10.30|0.7000 | ----- 0.00 1513.362 0.000 0.000
( 1 )
T(sec) | Khg | Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)
: o1 | 1238|070 | 167 | 0.7 |0.63|0.69| 630040 | 4007208 | 360940
P2 0.80 | 0.9379 | 0.386 | 0.40 4989.267 3143.239 4989.267
2 Al | 0.166 | 0.80 | 1.3464 | ----- ----10.00 756.681 0.000 0.000
3 A2 | 0.189 | 0.80 | 1.4697 | ----- ----10.00 756.681 0.000 0.000

FORUMS8




- 47 -

2 11 )

T(sec) | T/Tmin | Khg | Khco Cs Khe F (kN) H (kN) Wu (kN)
1] 1 Al | 0.122 ----10.80|1.0984 | ---—-—- 0.00 1513.362 0.000 0.000
2|1 P1| 0.802 | 1.000 | 0.70 | 1.7500 | 0.334 | 0.58 4161.746 2413.813 4161.746
311 P2 | 0.856 | 1.066 | 0.80 | 1.5259 | 0.344 | 0.52 4161.746 2164.108 4161.746
41 1 A2 | 0.124 ----10.80|1.1104 | ----- 0.00 1513.362 0.000 0.000
T
Khg
Kho 1
Khi 1
Kh 1
Khco 2
Cs
Khci 2
Khc 2

(kN)
(kN)
(kN)

Wu (kN)

FORUMS8




- 48 -

1.4.2
1 1
Khgo Khg Kho Khi Kh
P1 " 0.2000 0.20 | 0.2500 0.25 0.25
P2 I 0.1600 0.16 | 0.2000 0.20
Khgo
Khg 1 Khg = Cz Khgo
Kho
Khi Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
( )
Cz = 1.00
T=201/6 = 0.865 (s)
SWixXUi? 712. 311
= = = 0.185 (m)
S WiXUi 3842. 988
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m?)
1 945.851 0.2185 206.635 45.143
(Bridge 1) 2 1891.703 0.2183 413.008 90.170
3 1891.703 0.2179 412.219 89.826
4 1891.703 0.2181 412655 90.016
5 1891.703 0.2181 412565 89.977
6 1891.703 0.2185 413.354 90.321
7 945.851 0.2186 206.808 45.218
P1 1 0.000 0.2150 0.000 0.000
2 1371.755 0.1988 272.771 54.240
3 0.000 0.1784 0.000 0.000
4 3503.500 0.0899 314.835 28.292
5 0.000 0.0285 0.000 0.000
6 3894.275 0.0218 84.931 1.852
7 0.000 0.0152 0.000 0.000
P2 1 0.000 0.2161 0.000 0.000
2 1371.755 0.2007 275.303 55.252
3 0.000 0.1812 0.000 0.000
4 3773.000 0.0897 338.608 30.388
5 0.000 0.0266 0.000 0.000
6 3894.275 0.0204 79.296 1.615
7 0.000 0.0142 0.000 0.000
3842.988 712.311

FORUMS8




- 49 -

1 2
Khgo Khg Kho Kh
Al | 0.1600 0.16 0.2000 0.20
Khgo
Khg Khg = Cz Khgo
Kho
Kh
(Kh 0.1 0.1 )
Cz =1.00
T=201y6 = 0.127 (s)
O = 6p+ 6o+ Oo+ho =0.004 (m)
o) 80%
(m)
op: (m
00 : (m)
0o : (rad)
ho = 9.300 (m)
dp
Wu-+h® 0.8Wp - hp’
6p = ——+——2 " _ 0 00058 (m)
3EI 8E1
Wu : = 0.000 (kN)
Wp : = 3058.825 (kN)
EI : = 1.148414E+008 (kN.m?)
h : = 8.100 (m)
hp : = 6.000 (m)
do0
Ho « Arr — Mo + Asr
do = = 0.00114 (m)
Ass ¢ Arr — Asr * Ars
0o
-Ho < Ars + Mo * Ass
Bo = = 0.00025 (rad)
Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF) = 4258.100 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 11364.276 (kN.m)
Wf = 2263.800 (kN)
hpg : = 3.000 (m)
hf = 1.200 (m)
hfg : = 0.600 (m)
Ho (kN)

FORUMS8



- B0 -

Mo : (kN.m)
Ass,Asr , Ars,Arr :
Ass = 3.744452E+006 (kN/m)

Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 4.591546E+007 (kN.m/rad)

FORUMS8




- 51 -

1 3
Khgo Khg Kho Kh
A2 | 0.1600 0.16 0.2000 0.20
Khgo
Khg Khg = Cz Khgo
Kho
Kh
(Kh 0.1 0.1 )
Cz =1.00
T=201y6 = 0.142 (s)
o = 6p+ 6o+ Oo+ho =0.005 (m)
o) 80%
(m)
op: (m
00 : (m)
0o : (rad)
ho = 9.300 (m)
dp
Wu-+h® 0.8Wp - hp’
6p = ——+——2 " _ 0 00074 (n)
3EI 8E1
Wu : = 0.000 (kN)
Wp : = 2983.365 (kN)
EI : = 9.574400E+007 (kN.m?)
h : = 8.300 (m)
hp : = 6.200 (m)
do0
Ho « Arr — Mo + Asr
do = = 0.00108 (m)
Ass ¢ Arr — Asr * Ars
0o
-Ho < Ars + Mo * Ass
Bo = = 0.00034 (rad)
Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF) = 3680.292 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 10432.237 (kN.m)
WF = 1617.000 (kN)
hpg : = 3.100 (m)
hf = 1.000 (m)
hfg : = 0.500 (m)
Ho (kN)

FORUMS8



- B2 -

Mo : (kN.m)
Ass,Asr , Ars,Arr :
Ass = 3.400530E+006 (kN/m)

Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 3.063540E+007 (kN.m/rad)

FORUMS8




- B3 -

2 | 1
Khgo Khg Khco Cs M a Khci Khe
P1 1 0.3500 0.35| 0.8500| 0.592 | 1.927 0.50 0.50
p2 I 0.3000 0.30 | 0.7000 0.606 1.860 0.42
Khgo 2 ( D)
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( D)
1
Cs D REIEWRFER ELREL Cs = ——
Y2+ na—l1
M a
Khci Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
( )
Cz =1.00
T=201/6 =1.233 (s)
S WixXUi? 2707. 838
5 = ——— = = 0.376 (m)
S WiXUi 7196. 462
Wi x Ui Wi x Ui’
Wi (kN) Ui (m (kN.m) (kN.m%)
1 945.851 0.4337 410.190 177.888
(Bridge 1) 2 1891.703 0.4335 820.117 355.549
3 1891.703 0.4331 819.329 354.865
4 1891.703 0.4334 819.782 355.258
5 1891.703 0.4333 819.710 355.196
6 1891.703 0.4337 820.499 355.880
7 945.851 0.4339 410.381 178.054
P1 1 0.000 0.4302 0.000 0.000
2 1371.755 0.3921 537.822 210.863
3 0.000 0.3439 0.000 0.000
4 3503.500 0.1413 494.994 69.936
5 0.000 0.0286 0.000 0.000
6 3894.275 0.0219 85.428 1.874
7 0.000 0.0153 0.000 0.000
P2 1 0.000 0.4314 0.000 0.000
2 1371.755 0.3954 542.351 214.429
3 0.000 0.3498 0.000 0.000
4 3773.000 0.1423 537.082 76.453
5 0.000 0.0264 0.000 0.000
6 3894.275 0.0202 78.778 1.594
7 0.000 0.0141 0.000 0.000
7196.462 2707.838

FORUMS8




- 54 -

2 I 2
Khgo Khg Khco Cs M a Khc
Al | 0.3000 0.30 0.7000 | --—---| -——-—- 0.00
Khgo 2 ( D)
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.166 (s)
8 = 8p+ 8o+ Bo-ho =0.007 (m
o 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 9.300 (m)
dp
Wu-h® 0.8Wp -+ hp’
6p = ——+ "W _ 4 00174 (m)
3EI 8EI
Wu : = 756.681 (kN)
Wp : = 3058.825 (kN)
El : = 1.148414E+008 (kN.m?)
h : = 8.100 (m)
hp : = 6.000 (m)
d0
Ho « Arr — Mo « Asr
6o = =0.00134 (mw
Ass * Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
Bo= = 0.00040 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

WF

5014.781 (kN)
18401.410 (kN.m)

= 2263.800 (kN)

FORUMS8




- B5 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.744452E+006 (kN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (kN.m/m)
Arr = 4.591546E+007 (kN.m/rad)

(kN)

3.000 (m)

0.600 (m)

(kN.m)

= 1.200 (m)

FORUMS8



- 56 -

2 I 3
Khgo Khg Khco Cs M a Khc
A2 | 0.3000 0.30 0.7000 | --—---| -——-—- 0.00
Khgo 2 ( D)
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.189 (s)
8 = 8p+ 8o+ Bo-ho=0.00 (m
o 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = —— 4P 4 00225 (m)
3EI 8EI
Wu : = 756.681 (kN)
Wp : = 2983.365 (kN)
El : = 9.574400E+007 (kN.m?)
h : = 8.300 (m)
hp : = 6.200 (m)
d0
Ho « Arr — Mo « Asr
6o = = 0.00130 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
Bo= = 0. 00057 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

WF

4436.973 (kN)
17469.371 (kN.m)

= 1617.000 (kN)

FORUMS8




- 57 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.400530E+006 (kN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 3.063540E+007 (kN.m/rad)

(kN)

3.100 (m)

0.500 (m)

(kN.m)

= 1.000 (m)

FORUMS8




- B8 -

2 1] 1
Khgo Khg Khco Cs M a Khci Khe
P1 1 0.7000 0.70 | 1.6867 | 0.374 | 4.073 0.63 0.63
p2 I 0.8000 0.80 | 0.9379 0.386 3.850 0.40
Khgo 2 ( )
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs D REIEWRFER ELREL Cs = ——
Y2+ na—l1
M a
Khci Khci = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
( )
Cz =1.00
T=201/6 =1.233 (s)
S WixXUi? 2707. 838
5 = ——— = = 0.376 (m)
S WiXUi 7196. 462
Wi x Ui Wi x Ui’
Wi (kN) Ui (m (kN.m) (kN.m%)
1 945.851 0.4337 410.190 177.888
(Bridge 1) 2 1891.703 0.4335 820.117 355.549
3 1891.703 0.4331 819.329 354.865
4 1891.703 0.4334 819.782 355.258
5 1891.703 0.4333 819.710 355.196
6 1891.703 0.4337 820.499 355.880
7 945.851 0.4339 410.381 178.054
P1 1 0.000 0.4302 0.000 0.000
2 1371.755 0.3921 537.822 210.863
3 0.000 0.3439 0.000 0.000
4 3503.500 0.1413 494.994 69.936
5 0.000 0.0286 0.000 0.000
6 3894.275 0.0219 85.428 1.874
7 0.000 0.0153 0.000 0.000
P2 1 0.000 0.4314 0.000 0.000
2 1371.755 0.3954 542.351 214.429
3 0.000 0.3498 0.000 0.000
4 3773.000 0.1423 537.082 76.453
5 0.000 0.0264 0.000 0.000
6 3894.275 0.0202 78.778 1.594
7 0.000 0.0141 0.000 0.000
7196.462 2707.838

FORUMS8




- 59 -

2 ] 2
Khgo Khg Khco Cs M a Khc
Al | 0.8000 0.80 1.3464 | ----—-| —-——-—- 0.00
Khgo 2 ( 1))
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs EIEWFFIERTIESREL Cs = ———
y2+ na—l1
M a
Khc
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.166 (s)
8 = 8p+ 8o+ Bo-ho =0.007 (m
o 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = ——+ "W _ 4 00174 (m)
3EI 8EI
Wu : = 756.681 (kN)
Wp : = 3058.825 (kN)
El : = 1.148414E+008 (kN.m?)
h : = 8.100 (m)
hp : = 6.000 (m)
d0
Ho « Arr — Mo « Asr
6o = = 0.00134 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
Bo= = 0.00040 (rad)
Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF) = 5014.781 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 18401.410 (kN.m)
WF = 2263.800 (kN)

FORUMS8




- 60 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.744452E+006 (kN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (kN.m/m)
Arr = 4.591546E+007 (kN.m/rad)

(kN)

3.000 (m)

0.600 (m)

(kN.m)

= 1.200 (m)

FORUMS8



- 61 -

2 ] 3
Khgo Khg Khco Cs M a Khc
A2 | 0.8000 0.80 1.4697 | -----—-| —-——-- 0.00
Khgo 2 ( 1))
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs EIEWFFIERTIESREL Cs = ———
y2+ na—l1
M a
Khc
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.189 (s)
8 = 8p+ 8o+ Bo-ho=0.00 (m
o 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = —— 4P 4 00225 (m)
3EI 8EI
Wu : = 756.681 (kN)
Wp : = 2983.365 (kN)
El : = 9.574400E+007 (kN.m?)
h : = 8.300 (m)
hp : = 6.200 (m)
d0
Ho « Arr — Mo « Asr
6o = = 0.00130 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
Bo= = 0. 00057 (rad)
Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF) = 4436.973 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 17469.371 (kN.m)
Wf = 1617.000 (kN)

FORUMS8




- 62 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.400530E+006 (kN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 3.063540E+007 (kN.m/rad)

(kN)

3.100 (m)

0.500 (m)

(kN.m)

= 1.000 (m)

FORUMS8




- 63 -

1 1
Khgo Khg Kho Kh
Al 1 0.1600 0.16 0.2000 0.20
Khgo
Khg 1 Khg = Cz Khgo
Kho
Kh
(Kh 0.1 0.1 )
Cz =1.00

T=201{8 =0.122 (s)
§ = 6p+ 6o+ Bo-ho =0.004 (m)

o : 80%
(m)
op: (m
00 : (m)
0o : (rad)
ho : = 9.300 (m)
dp
op= urh 080 M hh007 ()
3EI 8E1
Wu : = 1513.362 (kN)
Wp : = 3058.825 (kN)
El : = 4.808238E+009 (KN.m?)
h : = 8.100 (m)
hp : = 6.000 (m)
do0
Ho « Arr — Mo + Asr
do = = 0.00154 (m)
Ass « Arr — Asr ¢ Ars
0o

—Ho <« Ars + Mo + Ass
Ass ¢« Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

o = 0. 00022 (rad)

5771.462 (kN)
25438.543 (KN.m)

(1) - = 2263.800 (kN)
hpg : = 3.000 (m)

hf = 1.200 (m)

hfg : = 0.600 (m)

Ho : (kN)

FORUMS8



- 64 -

Mo : (kN.m)
Ass,Asr , Ars,Arr :
Ass = 3.744452E+006 (kN/m)

Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 1.133831E+008 (kN.m/rad)

FORUMS8




- 65 -

1 2
Khgo Khg Kho Kh
P1 11 0.2000 0.20 0.2500 0.25
Khgo
Khg Khg = Cz Khgo
Kho
Kh
(Kh 0.1 0.1 )
Cz =1.00
T=201y6 =0.691 (s)
o = 6p+ 6o+ Oo+ho =20.118 (m)
o) 80%
(m
op: (m
00 : (m)
0o : (rad)
ho : = 19.800 (m)
dp
Wu-+h® 0.8Wp -+ hp’
6p = ——+——2 " _ 0 01637 (n)
3EI 8E1
Wu : = 4161.746 (kN)
Wp : = 4875.255 (kN)
EI : = 5.729167E+008 (kN.m?)
h : = 17.600 (m)
hp : = 15.500 (m)
do0
Ho « Arr — Mo « Asr
6o = = 0.01140 (m)
Ass ¢ Arr — Asr * Ars
0o
-Ho < Ars + Mo * Ass
Bo = = 0.00457 (rad)

Ass ¢« Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)

Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

WF
hpg :
hf
hfg :
Ho

11177.370 (kN)
128426.415 (KN.m)

3894.275 (kN)

8.722 (m)

2.200 (m)

1.100 (m)
(kN)

FORUMS8



- 66 -

Mo

: (kN.m)
Ass,Asr , Ars,Arr :
Ass = 2.763199E+006 (kN/m)
Asr = -4.445890E+006 (kN/rad)
Ars = -4.445890E+006 (KkN.m/m)
3.916349E+007 (kN.m/rad)

Arr

FORUMS8




- 67 -

1 3
Khgo Khg Kho Kh
P2 1 0.1600 0.16 0.2000 0.20
Khgo
Khg Khg = Cz Khgo
Kho
Kh
(Kh 0.1 0.1 )
Cz =1.00

T=201y6 =0.732 (s)

)

dp+ do + Oo+ho =0.133 (m)
0 80%
(m)
op: (m
00 : (m)
0o : (rad)
ho
dp
op = ush 080 hp a6 ()
3EI 8E1
Wu :
Wp : = 5144.755 (kN)
El : = 5.729167E+008 (KN.m?)
h :
hp : = 16.500 (m)
do0
Ho « Arr — Mo + Asr
do = = 0.01193 (m)
Ass « Arr — Asr ¢ Ars
0o
po= —torhrs t Mot ASS ) 0ug5 (rad)
Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF) = 11392.970 (kN)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg = 137070.485 (kN.m)
Wf
hpg : = 9.239 (m)
hf
hfg : = 1.100 (m)
Ho (kN)

= 20.800 (m)

= 4161.746 (kN)

= 18.600 (i)

3894.275 (kN)

2.200 (m)

FORUMS8



- 68 -

Mo

: (kN.m)
Ass,Asr , Ars,Arr :
Ass = 2.763199E+006 (kN/m)
Asr = -4.445890E+006 (kN/rad)
Ars = -4.445890E+006 (KkN.m/m)
3.916349E+007 (kN.m/rad)

Arr

FORUMS8




- 69 -

1 4
Khgo Khg Kho Kh
A2 1 0.1600 0.16 0.2000 0.20
Khgo
Khg 1 Khg = Cz Khgo
Kho
Kh
(Kh 0.1 0.1 )
Cz =1.00

T=201{8 =0.124 (s)
§ = 6p+ 6o+ Bo-ho =0.004 (m)

o : 80%
(m)
op: (m
00 : (m)
0o : (rad)
ho : = 9.300 (m)
dp
op=u-h O.8W-hp i hh008 (m)
3EI 8E1
Wu : = 1513.362 (kN)
Wp : = 2983.365 (kN)
El : = 4.525400E+009 (KN.m?)
h : = 8.300 (m)
hp : = 6.200 (m)
do0
Ho « Arr — Mo + Asr
do = = 0.00153 (m)
Ass « Arr — Asr ¢ Ars
0o

—Ho <« Ars + Mo + Ass
Ass ¢« Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

o = 0. 00024 (rad)

5193.654 (kN)
24506.504 (KN.m)

(1) - = 1617.000 (kN)
hpg : = 3.100 (m)

hf = 1.000 (m)

hfg : = 0.500 (m)

Ho : (kN)

FORUMS8



- 70 -

Mo : (kN.m)
Ass,Asr , Ars,Arr :
Ass = 3.400530E+006 (kN/m)

Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 1.029690E+008 (kN.m/rad)

FORUMS8




- 71 -

2 I 1
Khgo Khg Khco Cs M a Khc
Al | 0.3000 0.30 0.7000 | --—---| -——-—- 0.00
Khgo 2 ( 1)
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs D MEEMRERELR L Cs = ——
y2+ na—l1
g a
Khc
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.122 (s)
8 = 8p+ 8o+ Bo-ho =0.004 (m
o : 80%
(m)
dp: (m
00 : (m)
6o : (rad)
ho : = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = ——+—"2 W _ (00007 (m)
3ET 8EI
Wu : = 1513.362 (kN)
Wp : = 3058.825 (kN)
El : = 4.808238E+009 (kN.m?)
h : = 8.100 (m)
hp : = 6.000 (m)
o0
Ho « Arr — Mo « Asr
6o = = 0.00154 (m)
Ass * Arr — Asr ¢ Ars
6o
—Ho + Ars + Mo * Ass
Bo= = 0. 00022 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

5771.462 (kN)
25438.543 (KN.m)

WE - = 2263.800 (kN)

FORUMS8




- 72 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.744452E+006 (KN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 1.133831E+008 (kN.m/rad)

(kN)

3.000 (m)

0.600 (m)

(kN.m)

= 1.200 (m)

FORUMS8



- 73 -

2 I 2
Khgo Khg Khco Cs M a Khc
P1 11 0.3500 0.35 0.8500 0.543 2.198 0.46
Khgo 2 ( D)
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz =1.00
T=201y6 = 0.802 (s)
8 = 8p+ So+ Bo-ho =0.159 (m)
o : 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 19.800 (m)
dp
Wu-h® 0.8Wp -+ hp’
6p = —— +—"P W _ 4 05736 (n)
3EI 8EI
Wu : = 4161.746 (kN)
Wp : = 4875.255 (kN)
El : = 1.634989E+008 (kN.m?)
h : = 17.600 (m)
hp : = 15.500 (m)
d0
Ho « Arr — Mo * Asr
6o = = 0.01140 (m)
Ass * Arr — Asr ¢ Ars
0o
-Ho <« Ars + Mo * Ass
Bo = = 0.00457 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

11177.370 (kN)
128426.415 (kN.m)

WE - = 3894.275 (kN)

FORUMS8




- 74 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 2.763199E+006 (kN/m)

Asr = -4.445890E+006 (kN/rad)
Ars = -4_445890E+006 (KN.m/m)
Arr = 3.916349E+007 (kN.m/rad)

(kN)

8.722 (m)

1.100 (m)

(kN.m)

= 2.200 (m)

FORUMS8



- 75 -

2 I 3
Khgo Khg Khco Cs M a Khc
p2 | 0.3000 0.30 0.7000 0.556 2.120 0.40
Khgo 2 ( D)
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz =1.00
T=201y6 = 0.856 (s)
8 = 8p+ 8o+ Bo-ho=0.181 (m)
o : 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 20.800 (m)
dp
Wu-h® 0.8Wp -+ hp’
6p = —— +—"P2 W _ (06840 (m)
3EI 8EI
Wu : = 4161.746 (kN)
Wp : = 5144_755 (kN)
El : = 1.642887E+008 (kN.m?*)
h : = 18.600 (m)
hp : = 16.500 (m)
d0
Ho « Arr — Mo * Asr
6o = = 0.01193 (w)
Ass * Arr — Asr ¢ Ars
0o
-Ho <« Ars + Mo * Ass
Bo = = 0.00485 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

11392.970 (kN)
137070.485 (KN.m)

WE - = 3894.275 (kN)

FORUMS8




- 76 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 2.763199E+006 (kN/m)

Asr = -4.445890E+006 (kN/rad)
Ars = -4_445890E+006 (KN.m/m)
Arr = 3.916349E+007 (kN.m/rad)

(kN)

9.239 (m)

1.100 (m)

(kN.m)

= 2.200 (m)

FORUMS8



- 77 -

2 I 4
Khgo Khg Khco Cs M a Khc
A2 | 0.3000 0.30 0.7000 | --—---| -——-—- 0.00
Khgo 2 ( D)
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.3 Khei = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.124 (s)
8 = 8p+ 8o+ Bo-ho =0.004 (m
o : 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = ——+—"P2 W _ (00008 (m)
3EI 8EI
Wu : = 1513.362 (kN)
Wp : = 2983.365 (kN)
El : = 4.525400E+009 (kN.m?)
h : = 8.300 (m)
hp : = 6.200 (m)
d0
Ho « Arr — Mo « Asr
6o = = 0.00153 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
Bo= = 0.00024 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

5193.654 (kN)
24506.504 (KN.m)

WE - = 1617.000 (kN)

FORUMS8




- 78 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.400530E+006 (KN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 1.029690E+008 (KN.m/rad)

(kN)

3.100 (m)

0.500 (m)

(kN.m)

= 1.000 (m)

FORUMS8




- 79 -

2 1 1
Khgo Khg Khco Cs M a Khc
Al | 0.8000 0.80 1.0984 | ----—-| -—-——-—- 0.00
Khgo 2 ( )
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs D MEEMRERELR L Cs = ——
y2+ na—l1
g a
Khc
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.122 (s)
8 = 8p+ 8o+ Bo-ho =0.004 (m
0 80%
(m)
dp: (m
00 : (m)
6o : (rad)
ho : = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = ——+—"2 W _ (00007 (m)
3ET 8EI
Wu : = 1513.362 (kN)
Wp : = 3058.825 (kN)
El : = 4.808238E+009 (kN.m?)
h : = 8.100 (m)
hp : = 6.000 (m)
o0
Ho « Arr — Mo « Asr
6o = = 0.00154 (m)
Ass * Arr — Asr ¢ Ars
6o
—Ho + Ars + Mo * Ass
Bo= = 0. 00022 (rad)

Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) +

WF

0.8WF hfyg

5771.462 (kN)
25438.543 (KN.m)

= 2263.800 (kN)

FORUMS8




- 80 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.744452E+006 (KN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 1.133831E+008 (kN.m/rad)

(kN)

3.000 (m)

0.600 (m)

(kN.m)

= 1.200 (m)

FORUMS8



- 81 -

2 11 2
Khgo Khg Khco Cs M a Khc
P1 11 0.7000 0.70 1.7500 0.334 4.991 0.58
Khgo 2 ( 1))
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz =1.00
T=201y6 = 0.802 (s)
8 = 8p+ So+ Bo-ho =0.159 (m)
o : 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 19.800 (m)
dp
Wu-h® 0.8Wp -+ hp’
6p = —— +—"P W _ 4 05736 (n)
3EI 8EI
Wu : = 4161.746 (kN)
Wp : = 4875.255 (kN)
El : = 1.634989E+008 (kN.m?)
h : = 17.600 (m)
hp : = 15.500 (m)
d0
Ho « Arr — Mo * Asr
6o = = 0.01140 (m)
Ass * Arr — Asr ¢ Ars
0o
-Ho <« Ars + Mo * Ass
Bo = = 0.00457 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

11177.370 (kN)
128426.415 (kN.m)

WE - = 3894.275 (kN)

FORUMS8




- 82 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 2.763199E+006 (kN/m)

Asr = -4.445890E+006 (kN/rad)
Ars = -4_445890E+006 (KN.m/m)
Arr = 3.916349E+007 (kN.m/rad)

(kN)

8.722 (m)

1.100 (m)

(kN.m)

= 2.200 (m)

FORUMS8



- 83 -

2 11 3
Khgo Khg Khco Cs M a Khc
p2 | 0.8000 0.80 1.5259 0.344 4.734 0.52
Khgo 2 ( 1))
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz =1.00
T=201y6 = 0.856 (s)
8 = 8p+ 8o+ Bo-ho=0.181 (m)
o : 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 20.800 (m)
dp
Wu-h® 0.8Wp -+ hp’
6p = —— +—"P2 W _ (06840 (m)
3EI 8EI
Wu : = 4161.746 (kN)
Wp : = 5144_755 (kN)
El : = 1.642887E+008 (kN.m?*)
h : = 18.600 (m)
hp : = 16.500 (m)
d0
Ho « Arr — Mo * Asr
6o = = 0.01193 (w)
Ass * Arr — Asr ¢ Ars
0o
-Ho <« Ars + Mo * Ass
Bo = = 0.00485 (rad)

Ass ¢« Arr — Asr + Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) + 0.8WF hfg

11392.970 (kN)
137070.485 (KN.m)

WE - = 3894.275 (kN)

FORUMS8




- 84 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 2.763199E+006 (kN/m)

Asr = -4.445890E+006 (kN/rad)
Ars = -4_445890E+006 (KN.m/m)
Arr = 3.916349E+007 (kN.m/rad)

(kN)

9.239 (m)

1.100 (m)

(kN.m)

= 2.200 (m)

FORUMS8



- 85 -

2 11 4
Khgo Khg Khco Cs M a Khc
A2 | 0.8000 0.80 1.1104 | ------| --——-- 0.00
Khgo 2 ( 1))
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs LSRR ER s = ——
y2+ na—l1
M a
Khc
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Cz = 1.00
T=201y6 =0.124 (s)
8 = 8p+ 8o+ Bo-ho =0.004 (m
o 80%
(m)
op: (m)
00 : (m)
6o : (rad)
ho : = 9.300 (m)
dp
Wu-h® 0.8Wp - hp’
6p = ——+—"P2 W _ (00008 (m)
3EI 8EI
Wu : = 1513.362 (kN)
Wp : = 2983.365 (kN)
El : = 4.525400E+009 (kN.m?)
h : = 8.300 (m)
hp : = 6.200 (m)
d0
Ho « Arr — Mo « Asr
6o = = 0.00153 (m)
Ass * Arr — Asr ¢ Ars
0o
—Ho + Ars + Mo * Ass
Bo= = 0.00024 (rad)

Ass * Arr — Asr ¢ Ars
Ho = Wu + 0.8(Wp + WF)
Mo = Wu ho + 0.8Wp(hpg + hf) +

WF

0.8WF hfyg

5193.654 (kN)
24506.504 (KN.m)

= 1617.000 (kN)

FORUMS8




- 86 -

hpg :

hf :

hfg :

Ho

Mo :
Ass,Asr,Ars,Arr :

Ass = 3.400530E+006 (KN/m)
Asr = 0.000000E+000 (kN/rad)
Ars = 0.000000E+000 (KN.m/m)
Arr = 1.029690E+008 (KN.m/rad)

(kN)

3.100 (m)

0.500 (m)

(kN.m)

= 1.000 (m)

FORUMS8




- 87 -

1.4.3

Al
Cz 1.00
B
|
(kN) 1513.362
(m) 2.100
1
2(1 ) 1t )
T (s) 0.127 0.122
Kho 0.2000 0.2000
Khi 0.20 0.20
Kh 0.20 0.20
Wu (kN) 1135.021 1513.362
H (kN) 227.004 302.672
Khgo 0.1600
Khg 0.16
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H=Fs Rd
Fs Rd  1/2 skh W
Fs Rd skh Rd
W (kN)
Rd (kN)
Fs
skh :
Wu =H 7/ Kh
Fs (Eﬂ) F?kN§d (kN) (EN) (&H)
Bridge 1 0.15 | 1513.362 227.004 378.341 227.004 | 1135.021
by 227.004 | 1135.021
H = F Kh = 1513.362 0.20 = 302.672 (kN)
Wu = H / Kh = 1513.362(kN)
F kN)

FORUMS8



- 88 -

2 I
2(1 ) 11 )
T () 0.166 0.122
ma ] mmmmmmmmmmee e | e
Cs ] mmmmmmmmmmmmee | e
Khco 0.7000 0.7000
Khet ] e
Khc 0.00 0.00
Wu (kN) 0.000 0.000
H (kN) 0.000 0.000
Khgo 0.3000
Khg 0.30
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H=Rd /2 Khc
Wu = H / Khc
Khc
Rd (kN)
Rd H Wu
(kN) (kN) kN)
Bridge 1 1 1513.362 0.000 0.000
> 0.000 0.000
H =F Khc = 1513.362 0.00 = 0.000 (kN)
Wu = H / Khc = 0.000(kN)
F (kN)

FORUMS8



- 89 -

2 11
2(1 ) 11 )
T () 0.166 0.122
ma ] mmmmmmmmmmee e | e
Cs ] mmmmmmmmmmmmee | e
Khco 1.3464 1.0984
Khet ] e
Khc 0.00 0.00
Wu (kN) 0.000 0.000
H (kN) 0.000 0.000
Khgo 0.8000
Khg 0.80
Khci = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
Cs = ;
2+ pna—1
Khg = Cz Khgo
H=Rd /2 Khc
Wu = H / Khc
Khc
Rd (kN)
Rd H Wu
(kN) (kN) kN)
Bridge 1 1 1513.362 0.000 0.000
> 0.000 0.000
H =F Khc = 1513.362 0.00 = 0.000 (kN)
Wu = H / Khc = 0.000(kN)
F (kN)

FORUMS8



- 90 -

P1
Cz 1.00
B
]
(kN) 4161.746
(m) 2.100
1
C ) 21 )
T (s) 0.865 0.691
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6297.041 4161.746
H (kN) 1574.260 1040.437
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H = F Kh=6297.041 0.25 = 1574.260 (kN)
Wu = H / Kh = 6297.041(kN)
F (kN)
H =F Kh =4161.746 0.25 = 1040.437 (kN)
Wu = H / Kh = 4161.746(kN)
F (kN)

FORUMS8



- 901 -

2 I
1C ) 2(1 )
T (s) 1.233 0.802
ua 1.9272 2.1979
Cs 0.5919 0.5427
Khco 0.8500 0.8500
Khci 0.50 0.46
Khc 0.50 0.46
Wu (kN) 6360.949 4161.746
H (kN) 3180.474 1914.403
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khei = 0.4 Cz
Khc
1
Cs =
2+ pna—1
Khg = Cz Khgo
H =F Khc = 6360.949 0.50 = 3180.474 (kN)
Wu = H / Khc = 6360.949(kN)
F (kN)
H =F Khc = 4161.746 0.46 = 1914.403 (kN)
Wu = H / Khc = 4161.746(kN)
F (kN)
2 11
1C ) 21 )
T (s) 1.233 0.802
M a 4.0728 4.9907
Cs 0.3741 0.3337
Khco 1.6867 1.7500
Khci 0.63 0.58
Khc 0.63 0.58
Wu (kN) 6360.949 4161.746
H kN) 4007.398 2413.813
Khgo 0.7000
Khg 0.70

FORUMS8



- 92 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 6360.949 0.63 = 4007.398 (kN)

Wu = H / Khc = 6360.949(kN)

F (kN)

H =F Khc = 4161.746 0.58 = 2413.813 (kN)

Wu = H / Khc = 4161.746(kN)
F (kN)

FORUMS8



- 03 -

P2
Cz 1.00
B
|
(kN) 4161.746
(m) 2.100
1
C ) 31 )
T (s) 0.865 0.732
Kho 0.2000 0.2000
Khi 0.20 0.20
Kh 0.25 0.20
Wu (kN) 5053.176 4161.746
H (kN) 1263.294 832.349
Khgo 0.1600
Khg 0.16
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H = F Kh =5053.176 0.25 = 1263.294 (kN)
Wu = H / Kh = 5053.176(kN)
F (kN)
H = F Kh = 4161.746 0.20 = 832.349 (kN)
Wu = H / Kh = 4161.746(kN)
F (kN)

FORUMS8
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2 I
) 31 )
T () 1.233 0.856
ua 1.8596 2.1201
Cs 0.6064 0.5555
Khco 0.7000 0.7000
Khei 0.42 0.40
Khc 0.50 0.40
Wu (kN) 4989.267 4161.746
H (kN) 2494634 1664.698
Khgo 0.3000
Khg 0.30
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khei = 0.4 Cz
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H =F Khc = 4989.267 0.50 = 2494.634 (kN)
Wu = H / Khc = 4989.267(kN)
F (kN)
H =F Khc = 4161.746 0.40 = 1664.698 (kN)
Wu = H / Khc = 4161.746(kN)
F (kN)
2 11
) 31 )
T (s) 1.233 0.856
M a 3.8504 4.7341
Cs 0.3863 0.3436
Khco 0.9379 1.5259
Khci 0.40 0.52
Khe 0.63 0.52
Wu (kN) 4989.267 4161.746
H kN) 3143.239 2164.108
Khgo 0.8000
Khg 0.80

FORUMS8
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Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
R
2+ pna—1

Khg = Cz Khgo

H =F Khc = 4989.267 0.63 = 3143.239 (kN)

Wu = H / Khc = 4989.267(kN)

F (kN)

H =F Khc = 4161.746 0.52 = 2164.108 (kN)

Wu = H / Khc = 4161.746(kN)
F (kN)

FORUMS8
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A2
Cz 1.00
B
|
(kN) 1513.362
m 2.100
1
31 ) 41 )
T ) 0.142 0.124
Kho 0.2000 0.2000
Khi 0.20 0.20
Kh 0.20 0.20
Wu (kN) 1135.021 1513.362
H (kN) 227.004 302.672
Khgo 0.1600
Khg 0.16
Khi = Cz Kho
(Khi 0.1 0.1
Khg = Cz Khgo
H=Fs Rd
Fs Rd 1/2 skh W
Fs Rd skh Rd
W (kN)
Rd (kN)
Fs
skh :
Wu =H 7/ Kh
Fs Rd Fs Rd H Wu
(kN) (kN) (kN) (kN) (kN)
Bridge 1 0.15 1513.362 227.004 378.341 227.004 1135.021
> 227.004 1135.021
H = F Kh = 1513.362 0.20 = 302.672 (kN)
Wu = H / Kh = 1513.362(kN)
F (kN)

FORUMS8
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2 I
3 ) 41 )
T (s) 0.189 0.124
pa | mmmmmmmmmme e | s
Cs ] mmmmmmmmmmmmee | e
Khco 0.7000 0.7000
kheikh | mmmmmmmmmmeee | e
Khc 0.00 0.00
Wu (kN) 0.000 0.000
H (kN) 0.000 0.000
Khgo 0.3000
Khg 0.30
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H=Rd /2 Khe
Wu = H / Khc
Khc
Rd (kN)
Rd H Wu
(kN) (kN) kN)
Bridge 1 4 1513.362 0.000 0.000
> 0.000 0.000
H =F Khc = 1513.362 0.00 = 0.000 (kN)
Wu = H / Khc = 0.000(kN)
F (kN)

FORUMS8



- 08 -

2 i
3 ) 41 )
T (s) 0.189 0.124
pa | mmmmmmmmmme e | s
Cs ] mmmmmmmmmmmmee | e
Khco 1.4697 1.1104
kheikh | mmmmmmmmmmeee | e
Khc 0.00 0.00
Wu (kN) 0.000 0.000
H (kN) 0.000 0.000
Khgo 0.8000
Khg 0.80
Khci = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khei = 0.4 Cz )
Khc
Cs = !
2+ pna—1
Khg = Cz Khgo
H=Rd /2 Khe
Wu = H / Khc
Khc
Rd (kN)
Rd H Wu
(kN) (kN) kN)
Bridge 1 4 1513.362 0.000 0.000
> 0.000 0.000
H =F Khc = 1513.362 0.00 = 0.000 (kN)
Wu = H / Khc = 0.000(kN)
F (kN)

FORUMS8
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1.4.4

1
(kN/m) (kN) (m)
- X U [
722 1
(Bridge 1) K e R
7V (O
1
(kN/m) (kN) (m)
- X U [
72 1
(Bridge 1) I e R
/o (O
(DKh  Wu
Kh
Wu (kN)
2 I
(kN/m) (kN) (m
X 5 OV UV
20 | oo oo
(Bridge 1) K et B N
/O [
2 I
(kN/m) (kN) (m)
1 X U [
20 | oo oo
(Bridge 1) K el B L et B e
/O (O
2 11
(kN/m) (kN) (m)
- X ) [
722 1
(Bridge 1) K e e
/O (O
2 11
(kN/m) (kN) (m)
- U [
72 1
(Bridge 1) K I et B St P e
/O (O
(DKhc Wu (Khc 2 )
@)¢m Pu (Pu (kN))
(3)Cm Pu (Pu kN))
(HKhc Wu (Khc 2
= 3.000 = 3.000
Wu (kN)
Cm (1.2)

FORUMS8
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2
@ P 5
)
€))
1
2)
“)
K
1
1 1 ho?
Kp  KFu  KFr
p
5p
P
TS0
M
© fo
M =P« ho(kN. m)
O0p+ 0o+ 0o ho
K (kN/m)
Kp (kN/m)
KFu (kN/m)
KFr : (kN.m/rad)
P (kN)
dp: (m)
o0 : (m)
6o : (rad)
0 (m
0 : (m)
P=1000(kN)
2.1
a EO
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m)
N el et 1.595019E+006
PL | mmmmmeeen | e 8.973235E+004
P2 | e | e 7.433263E+004
A2 ] mmmmmeeeee | e 1.205196E+006

FORUMS8
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e} op 00 0o 0
(m (m (mm) (mm) (mm) (nrad) (m
Al 7.200 0.000 | ------ 0.627 | ----——- | ---——- 7.200
P1 17.700 0.000 | ------ 11.144 | ———-—= | —————- 17.700
P2 18.700 0.000 | ------ 13.453 | ------ | —————- 18.700
A2 7.200 0.000 | ------ 0.830 | ------ | -————- 7.200
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
AL mmmmmeeem | s 6.678108E+007 |  ----—--—-—-
o e I 4_634936E+005 | = --------—--
o e I 3.839495E+005 | = ---——---—-
A2 s | e 5.696435E+007 | = -—-———-——-
o op o0 0o 0
(m) (m (mm) (mm) (mm) (nrad) (m
Al 7.200 0.000 | ------ 0.015 | ----——- | ---——- 7.200
P1 17.700 0.000 | ------ 2.158 | ----om | —mm——- 17.700
P2 18.700 0.000 | ------ 2.605 | ------ | —————- 18.700
A2 7.200 0.000 | ------ 0.018 | ------ | -—————- 7.200
P=1000(kN)
2.2
ED
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 3.744452E+006 | 4.591546E+007 | 1.595019E+006 | 4.943044E+005
P1 7.504987E+005 | 2.934288E+007 | 8.973235E+004 | 4.318989E+004
P2 7.232167E+005 | 2.947422E+007 | 7.433263E+004 | 3.745315E+004
A2 3.400530E+006 | 3.063540E+007 | 1.205196E+006 | 3.551171E+005
o dp o0 0o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Al 7.200 0.000 2.023 0.627 0.267 0.157 7.200
P1 17.700 0.000 23.154 11.144 1.332 0.603 17.700
P2 18.700 0.000 26.700 13.453 1.383 0.634 18.700
A2 7.200 0.000 2.816 0.830 0.294 0.235 7.200
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (KN/m)
Al 3.744452E+006 | 1.133831E+008 | 6.678108E+007 | 1.352728E+006
P1 7.504987E+005 | 2.934288E+007 | 4.634936E+005 | 7.058737E+004
P2 7.232167E+005 | 2.947422E+007 | 3.839495E+005 | 6.308556E+004
A2 3.400530E+006 | 1.029690E+008 | 5.696435E+007 | 1.226875E+006

FORUMS8
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e} op 00 0o 0
(m (m (mm) (mm) (mm) (nrad) (m
Al 7.200 0.000 0.739 0.015 0.267 0.064 7.200
P1 17.700 0.000 14.167 2.158 1.332 0.603 17.700
P2 18.700 0.000 15.851 2.605 1.383 0.634 18.700
A2 7.200 0.000 0.815 0.018 0.294 0.070 7.200
P=1000(kN)
2.3
ED
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 3.744452E+006 | 4.591546E+007 | 1.595019E+006 | 4.943044E+005
P1 7.504987E+005 | 2.934288E+007 | 2.730798E+004 | 2.056401E+004
P2 7.232167E+005 | 2.947422E+007 | 2.272806E+004 | 1.746864E+004
A2 3.400530E+006 | 3.063540E+007 | 1.205196E+006 | 3.551171E+005
o op do0 0o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Al 7.200 0.000 2.023 0.627 0.267 0.157 7.200
P1 17.700 0.000 48.629 36.619 1.332 0.603 17.700
P2 18.700 0.000 57.245 43.998 1.383 0.634 18.700
A2 7.200 0.000 2.816 0.830 0.294 0.235 7.200
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 3.744452E+006 | 1.133831E+008 | 6.678108E+007 | 1.352728E+006
P1 7.504987E+005 | 2.934288E+007 | 1.322717E+005 | 5.109991E+004
P2 7.232167E+005 | 2.947422E+007 | 1.101008E+005 | 4.478367E+004
A2 3.400530E+006 | 1.029690E+008 | 5.696435E+007 | 1.226875E+006
o dp o0 0o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Al 7.200 0.000 0.739 0.015 0.267 0.064 7.200
P1 17.700 0.000 19.570 7.560 1.332 0.603 17.700
P2 18.700 0.000 22.330 9.083 1.383 0.634 18.700
A2 7.200 0.000 0.815 0.018 0.294 0.070 7.200
P=1000(kN)

FORUMS8
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